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OEAMROE2E UHUHE 29 NEALA AHIE
& 20,000 *»4H 100 8,000
307 QI2t0| M 24,000 16,000 8,000
10 AIEI 22X E X 24,000 16,000 8,000
Oonledld HEz =24
8,000,000 x 1A x33] 24,000
401 Al &I 20| 22,000 2,000 20,000
01 Al&H| 22,000 2,000 20,000
OSAMESE2E HHA(LSAIZE) &
22,000,000 * 11 2 22,000
405 XHAHS S HI 1,000 4,000 A 3,000
01 ML EZFH S HI 1,000 4,000 A 3,000
OO0l Z &t (ipohang) R 2 Xt ¢
500, 000& *2CH 1,000
A3 EX K& 3,527,002 1,140,206 2,386,796
= 428,310
Al 3,098,692
BEXH 1,289,847 166,979 1,122,868
101 @1 2| 11,388 10,902 486
04 D12t MZ22NHsEES 11,388 10,902 486
ON=SstEsEY FHEZ 21|
36,8002 x8H x5! 1,767
OZSANESE Zpime| Q2H(H42)
36,800 x 1 «150! 5,520
OE SR 4AUMA XX 012Y
36,800 x5 *43| 736
OBZO82 M&IIEH +2 2 HEXY o
Palls]! 36,800 *3H x5 %4 3| 2,208
O4EE J|&ee=2 10,231,000& x11.3% 1,157
201 B2 A | 72,220 60,777 11,443
01 At 2t2| HI 33,220 33,220 0
O1.det4=2H| 23,500
-BEE2X&¥ =ZH| 8,000,000 8,000
-BEAEAIE EE2ES H& 2,000,000 2,000
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SN HBADYSHHD
HE: A S XSH(ASSK/HAHEXR)

Sl AISIZXIXIR (25l &2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
~SEAIL FIIOE FALLR 2,000,008 2,000
~2UIRBT AR 30,0002 #5074 1,500
~2INLBTHSE) SHAE 20,0002 *5007H 10,000
O5. 22| 2,520
~HEXAYS =X A
L0002 *3% * 102 #1231 2,520
06.2%2 7,200
-DUHERE B8 TFANL AR 2
e 600, 0002 128 7,200
02 B2 2,000 1,557 10,443
O3. A& ZHI R 12,000
o BESR ASRXAL 2,000,0002! 2,000
~HEAS(19H) SXESH 10,000,0008 10,000
03 A2 b 27,000 26,000 1,000
OllE &b A 2,000,0002! 2,000
O3.1& I8 At(zet 7,000,002 7,000
OBEY ZEsM 12,000, 0002 12,000
OFSSTIABR FHHA 6,000,000 6,000
202 04t 3,120 3,000 120
01 2UH0I b 3,120 3,000 120
SEAS ZXOH 60,0008 x2F *5L +43] 2,400
ONZSET Ay HTX A3
60,0002 22 +32 %23l 720
206 T 2 bl 7,000 0 7,000
01 HEH] 7,000 0 7,000
O3.12 Maola 7Y 20,0002 350 7,000
301 YerE Az 53,350 49,300 4,050
10 S AHAHI 2 & 2 53,350 49,300 4,050
O3.1% I 8A 3,300
S A St 100, 0002 *2% 200
Rt X2 1,000,000 1,000
-HEEH R524 ¥ SETY
7,0002! %3002 2,100
OHBY ZEsA 11,800
A S 10,0002 x2% 200
-HI4-Hl 2,500,0002! 2,500
-HECH RE24 ¥ SETY
7,00021+1,300% 9,100
OSSR ZEHA 4,650
A St 100,000 *2% 200
“HIAH TR 2,000,002 2,000
-BEEH R534 2 SERY
7,0002 %350 2,450
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SN HBADYSHHD
HE: A S XSH(ASSK/HAHEXR)

Sl AISIZXIXIR (25l &2
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Ofl &t o il i~ o Hnz2
O2&9 2 @A #4T 0l 10,0002 2002 2,000
Ol E BA &4 Z4 7,00024*100% 700
OZXIAF R M4t 100, 0002 *50% 5,000
O2NRBX AW SOHA 3,400
Rl X2 2,000,0002! 2,000
~HARE A 7,00021 %200 1,400
O2RX &t &4 ofyl
60,0002 %302 47§ EH A 7,200
ORNRTX 222E Y L AWK =X
o1l 60,0002 35 *50H £+ i 10,500
06.258 =T MY D= #A FAXF OFH|
60,0002 +80% 4,800
307 21201 & 57,000 32,000 25,000
TREENEES 57,000 32,000 25,000
06.258 2 F M |58 Al 20,000, 0002 20,000
ODSHEH HE2YH X
500, 0002 * 1CH 122 6,000
O E3cHi NP2yl N
500, 0002 * 1CH* 122 6,000
OS2AM Q2 DS HAT YIS
5,00094+5,000% 25,000
401 A2 HI 2 2 H ] 1,085,769 10,000 1,075,769
01 Al&t| 1,071,200 10,000 1,061,200
OZ2E 212(2549,617 £100,000 Al421,58
3) 1,071,200, 00024 * 141 1,071,200
02 2421t 11,462 0 11,462
Oz=g Ay 22l
1,071,200,00024%1.07/100 11,462
03 Al& 2 ChH] 3,107 0 3,107
OB=g 28 A&y
1,071,200,0002%0.29/ 100 3,107
SYRBX L FSYSH XNV (2X) 22,500 14,746 7,754
= 6,750
Al 15,750
301 YerB A 22,500 14,746 7,754
& 6,750
Al 15,750
NEEEERETE 22,500 14,746 7,754
OSERIX L RTQEH X
500, 0002 *45% 22,500
= 6,750
Al 15,750
FHRTN HULLX S (2X) 2,107,800 898,200 1,209,600
= 421,560
Al 1,686,240




SN HBADYSHHD
HE: A S XSH(ASSK/HAHEXR)

el ALSIS XX (ol ® 2
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
301 LBt A2 2,107,800 898,200 1,209,600
[ 421,560
Al 1,686,240
01 A2 ZE A 2 2,107,800 898,200 1,209,600
OFNIBA o+ XIS
50,0002 %3,513% x12& 2,107,800
< 421,560
Al 1,686,240
EHRIBA AYRZ22 30,000 15,000 15,000
301 LEtE A3 30,000 15,000 15,000
01 A2 Z X452 30,000 15,000 15,000
OFFSBA AYRA22 300,000 x100 30,000
S AsJ|ER 2e 76,855 45,281 31,574
201 L2 A 41,855 43,281 A1,426
01 At 2tel] 12,200 13,800 A1,600
O1.2et42H| 12,200
SER 29 4A2E 7Y 3,000,000 3,000
sz o2z 2 3.19H Jjga g8 223
ES; 4002 *8,000% 3,200
-SEo 22 ASI|IER MI|otA e e
*2 150,000« 12& 1,800
-SICORF MSI|E2 RoIAH =42
200,000 * 128 2,400
-UER] 3120 J1E® RIAH 242
150,000 * 128 1,800
02 =329l 29,655 29,481 174
O1.22=22MAl 24,640
-SIEoBE MBIIE 17,840
23 1,000,000 *12& 12,000
N e =] 300,000 x12& 3,600
Ha L QIEHY 22 120,000 * 128 1,440
CuHEsE2 800,000 13 800
-&ek tAel 3.191 Jg2 9 solay =
=g 6,800
23 200,000 *12& 2,400
ALER3 200,000 * 122 2,400
M3 L OEHHRS 100,000 «12& 1,200
TEHEEE 800,000 13 800
O2.o424] 2,957
-SEoERZ ASI|IEA(2ED])
1,100 %1202 «8Al 2H%1.8 £ *1CH 1,901
&2t A2l 319 Jlga(uR)
1,1002 %1202 «8Al 2+ 1CH 1,056
O3.AIZ & HI S XYl 2,058
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SN HBADYSHHD
HE: A S XSH(ASSK/HAHEXR)

&2l At = XX (S :®2)
_ _ NE T
SH-EFHHA(FA) - NIRAE - BES O AFH @,;OH Hlws2
St ogx MEI|gd HER AL
2,086 x903m* 1,884
-Settidel 3.129 J1ga A2 RNl
2,086& 83 m’ 174
307 2I2tol ™ 20,000 0 20,000
10 AtEI =X 2= 20,000 0 20,000
Ogcogz 33 Zstad AL 20,000,000 20,000
401 AIEHIZL 20hYI 15,000 0 15,000
01 Al &l 15,000 0 15,000
Ostcogx MSIEZ BE-SA(SEA A
B &dl) 10,000,000 * 14! 10,000
Osc2tiidEel 3.129/4 Jjlg& =JHK& 0lgal
J| 5,000,000 =14] 5,000
HY2HGU(MESAM DS (JIEH/DIE 129,420 130,127 AT707
QIA2HEHI(MESA DS TH ) 76,790 74,857 1,933
FMUIE 2 76,790 74,857 1,933
101 el d| 76,790 74,857 1,933
03 RO HA2Z 2 E S 76,790 74,857 1,933
OgogzZdsiiga 2 sHaa 2| 76,790
-JleEs 29,0103 x4 313 36,321
-&03 9,081,0002 x4 +1/12%300% 9,081
-FEF Y| 9,081,0002 x4 +1/12%120% 3,633
ERGPNESI=S 29,0103 x4H 18 2,089
=5 29,0103 »4H 53 6,151
TR L | 30,0003 x4 ZH12& 1,440
-tEg 60,0003 x4H x12& 2,880
-JHAI2 &I 50,0003 x4ZH «12& 2,400
“AZ2te 2R+ 5,4403 x4H x22 A| 2Hx12& 5,745
—ZaHgaldl 80,0003 x4H x12& 3,840
-2 3 29,0103 x4 B +2 U x 123 *50% 1,393
g2 9,081,000 x4 X +1/12%30%*23| 1,817
JI2dU (NS DA 52,630 55,270 2,640
FAHNSEH 10,030 10,030 0
201 B2 HH| 10,030 10,030 0
01 AR 2teld| 9,550 9,550 0
OFNA2ZE Let=2H| 3,550,000& 3,550
ORMEZE AR EH 3,000,000& 3,000
ORMEE =l 3,000,000& 3,000
02 2324l 480 480 0
ORN2E 233 480,000& 480
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